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70,0003 x12Y «53] 4,200
O=st2ZHEAN 5= XN
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s 9,000
Al 9,000
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s 5,000
Al 5,000
201 LB-2E| 10,000 6,000 4,000
s 5,000
Al 5,000
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101 2121 d] 9,350 9,350 0
04 JI2ZtHIZ22NEE S 9,350 9,350 0
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0 HAIY H=& 85,0002 11 x10H 9,350
201 LBt ]| 225,330 197,300 28,030
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2,000,000 19SS = 38,000
ORUAD ARIPEKRA S 5548 =24I&E
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01 A2 2,000 2,000 0
OXNEBELHAEH 2222 ZA 200,0008*10H 2,000
307 giztol A 2,024,720 2,024,720 0
02 QIZ2IA AAIE E X 54,720 54,720 0
020198 2 HXNBA=H JIS22 L dHA=sE
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OH21g ZHANEBLESH K&
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01 Al&H| 40,000 40,000 0
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80,000,000 *0.90% 720
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OFH 882 =%&s s28A &1
0,000,000 =14l 20,000
OSI=2ZSA 2 o2 I 222
A X 10,000, 000& = 1Al 10,000
OXNTEASH A SAZAH(EZSTHSHALE)
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OEE ZII8EEA HZE 15,000,000& 15,000
OFHE W HOIZS Ml 10,000,000 10,000
SR BE Y BFHIIBAIE X4 2,972,831 3,752,029 AT79,198
2 728,840
J| 320,900
= 776,453
Al 1,146,638
SasAEE 2,972,831 3,752,029 AT79,198
2 728,840
J| 320,900
& 776,453
Al 1,146,638
=SS Al 22 132,786 283,761 A 150,975
101 Q124 H] 28,160 28,160 0
04 JI2ZtHIZ22NEE S 28,160 28,160 0
OXNE23 M F=HHEH M=&Y
88,000 10 x8IH & ~4H 28,160
201 B9 27,577 25,212 2,365
01 AP 22| H| 12,542 12,712 A 170
OB =2H| 7,107
o0 23 HMI|eHtA BALE2
100, 000 x 1904 A 1,900
0 SO &H2A A2 2 600,000 600
0 EStMKA2 =8 AMREE P
1,000,000 1,000
o 23 MXE AMAEXE HE 2,000,000& 2,000
o0 23 A AR N 2 500,000& 500
o SEUWOF A0 Xz 42 200& ~12& 507
0 2EX23M A 2L 40,000& = 15CH 600
O2g4+4 3,755
o 2o M2IF MoLEd 3,755,000& 3,755
O =& 1,680,000 1,680
02 2=2=24%H| 15,035 12,500 2,535
OZ2Z222L A 8,035,000& 8,035
O 24| 3,000
o SELUOF 22AF HEE 22 3,000,000& 3,000
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02 QI2tAAMAIE E =X 23,489 38,489 A 15,000
020198 NE2F S HUHNZ2E /st ASEA
8,099,000& 8,099
0223 AS=2SHE A 7,290,000 7,290
OZHMSE=sUEHYH JIEAY 8,100,000& 8,100
401 AlEHIZ £ 0HY| 40,000 160,000 A 120,000
01 Al&H| 40,000 160,000 A 120,000
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6,720,000 6,720
= 3,360
o=} 1,680
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OESAZE STHAIAE ST ES(AZ2AH)
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ONESAE YUTHAIAE QA2 (XA
,720,000& 6,720
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Al 1,680
ONESEAE STHAIAE SANEL(EEAH)
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8,820,000& 8,820
- 4,410
& 2,205
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HENE 22 FH(2X) 600,000 0 600,000
= 300,000
== 150,000
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402 QI2F X2 0| & 600,000 0 600,000
= 300,000
< 150,000
Al 150,000
02 BIZEXIEANYEX(0OIETHH) 600,000 0 600,000
OE2A QA (Z2LA) = 200,000, 000& 200,000
= 100,000
o= 50,000
Al 50,000
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= 160,000
o= 80,000
Al 80,000
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Al 20,000
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= 117,000
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= 117,000
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150,000,000 *99.28% 148,920
74,460
74,460

= M

OAUA AE =HEHHISA

150,000,000 *99.28% 148,920
74,460
Al 74,460

n

-
o
Jit
>
o
000
&
Jo
I
0
I
THL
val

tah SHEHISAM

21,000,000& 21,000
& 10,500
Al 10,500




25 SHEEFHA
M 23R4 BE U 23IBAL X4
CHR: 23RBS (&2 &)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OZ=N DAZAAAN ZoE0 2 A
80,000,000& *99. 10% 79,280
== 39,640
Al 39,640
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== 6,500
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Al 5,000

- 22 -




2N
X ZH -
L= B

el

10 40 o
[z iz H
H
1y
o
Mo
tor
S
T
=
nx
P
0x

HO MO Mo
tol toi ton

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

OS2 E AL =101 0| 15,000, 000& 15,000
= 7,500
Al 7,500

CXE REISMN d-2sNI(EX) 110,400 110,400 0
44,160
Al 66,240

H

301 2EE A= 110,400 110,400 0

44,160
Al 66,240

H

12 IIEtE2 4= 110,400 110,400 0

O=XE 223

P
1>
g
o
bl
{0

93,600,000& 93,600
< 37,440
Al 56,160
O=Xd R 883 16,800,000& 16,800
6,720
10,080

= M

EXE SEESM SMHHAHI(EX) 15,900 15,900 0
,360
Al 9,540

H
o

301 LEE A F 156,900 15,900 0

,360
Al 9,540

H
o

12IJEEd=s 15,900 15,900 0

OZXZE RS2 S Al 15,900,000& 15,900
,360
Al 9,540

H
o

gnadesty 2H(EX) 26,124 26,124 0
10,449
Al 15,675

H

307 21201 & 26,124 26,124 0

10,449
15,675

= M

02 HAHFHANGEEE 26,124 26,124 0

26,124,000 26,124

10,449
15,675

= N

25 M ZHI R X ¥ Es(EX) 212,000 222,754 A 10,754
106,000

31,800
74,200

el R

101 1Al 209,600 217,954 A 8,354
Il 104,800

31,440
73,360

= M

03 I AHAx2 22+ 130,100 0 130, 100

_23_




N 2}EEFHA
dM: BoRL BE L F2I|IBAE =4
o©e: 2IRMEE CEE-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSRSZ23M X Pl AL (SAA OIS
HOHEE, HAA BIEZA)  130,100,000& 130,100
J| 65,050
< 19,515
Al 45,535
04 DIt Z2REE S 79,500 217,954 A 138,454
OSRSZIsM X Pl A (SEA OIS
A UEE, HMAF HEEA) 79,500,000& 79,500
J| 39,750
< 11,925
Al 27,825
201 24l 2,400 4,800 A 2,400
J| 1,200
< 360
Al 840
01 At 22l 2,400 4,800 A2,400
O23 M X AHA X & &=
2,400,000& 2,400
J| 1,200
< 360
Al 840
23 HHELXAE 2FH(EX) 257,000 100,000 157,000
J| 179,900
< 23,130
Al 53,970
402 BI2EX=20| M 257,000 0 257,000
Jl| 179,900
< 23,130
Al 53,970
02 It EAILEZ (01X S) 257,000 0 257,000
OS &AL HEZEXIAIE ALY
257,000, 000& 257,000
J| 179,900
= 23,130
Al 53,970
RIARMNEE(EX) 34,667 33,000 1,667
= 15,300
Al 19,367
101 1244 dl 16,000 16,000 0
< 8,000
Al 8,000
04 JIZHHZ2XREES 16,000 16,000 0
O=SR2 s SEgaelet 29 16,000, 000& 16,000
< 8,000
Al 8,000
301 et a3z 12,000 12,000 0
< 4,800
Al 7,200

_24_




25 SHEEFHA
M 23R4 BE U 23IBAL X4
te: BIARMESE CEE-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
12 JIEtE2 A= 12,000 12,000 0
OIANZ 10 8= dsst NE2d9
12,000,000& 12,000
& 4,800
Al 7,200
307 2iz2to| & 6,667 5,000 1,667
= 2,500
Al 4,167
02 QIZ2IAAAIE E X 6,667 5,000 1,667
020198 822 23 XA 6,667,000 6,667
= 2,500
Al 4,167
S RS2 &9 4,840 8,840 A4 ,000
201 et 4,840 8,840 A4 ,000
01 AP 2t 2] d| 4,840 5,840 A 1,000
OBt 2Y| 4,840
o MAIZ 29 & HEFY 2,500,000 2,500
o EEZ HZ& 1,500, 000& 1,500
0 =4l 840,000& 840
S AR 25 B2 A (MZ2)(EX) 46,000 50,000 A 4,000
= 23,000
& 6,900
Al 16,100
307 2iz2to| A 46,000 50,000 A4 ,000
= 23,000
= 6,900
Al 16,100
02 QIZIAAAIE E X 46,000 50,000 A 4,000
O20198 & SN 23 2 ALY
46,000,000 46,000
= 23,000
& 6,900
Al 16,100
MM AME(E2)(EX) 42,500 42,500 0
= 17,000
& 7,650
Al 17,850
307 2iz2to| & 42,500 42,500 0
= 17,000
= 7,650
Al 17,850
02 QIZ2FA AAIE E X 42,500 42,500 0
OMME HaH sZ22SHE 42,500,000 42,500
= 17,000
o= 7,650
Al 17,850
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